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1- Decompose the following two-digit numbers into tens and ones.

85~ | 36 48

2-Choose the correct answer.
35 = 3045 or 50+3

29 = 90+2 or 2049

3-Choose the correct answer.

= 60+1 16 or 61

= 3+20 32 or 23

Write (/) to the correct statement and (X) to the
4-incorrect statement.

063=6tens,3ones ( ) o54=4tens,5ones ( )

021 = 2+10 () | o038=3+80 ()

5-Use the digits 2, 3,5 to Make as many two — digit numbers as you can .
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7. Complete each number sequance and write the rule of each one.

Rule
s D,0,.7, . } i o
o 43,42 41, . i , o
g. Complete each number sequance and write the rule of each one.
12,113,348, . , '
043,44 , 45, . ) .-
The rule is :

g- Complete each number sequance and write the rule of each one.

020, 30, 40, : i ;
2 15 , 25,39, " - '
Theruleis:

10- Find the missing numbers.






